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Information Processing & Management

Units 3&4 Practice Exam

October 2000

Instructions to Students:

· Follow all instructions to the letter.

· Answer all questions in the spaces provided.

· Clearly delete any incorrect answers.

· Write your Name, your Teacher’s Name and your School Name at the top of the paper in the spaces provided.

· This Exam should take 2 hours to complete.

· You have 15 minutes of reading time.

Total Marks = 80 Marks

Question 1

List two examples of devices that can be used in the storage process, and identify the potential storage capacity of each item.

______________________________________________________________________________________________________________________________________________________________________(2 Marks)

Question 2

Ryan Bookkeeping has just introduced a new piece of easy-to-use accounting software.  The software is designed to easily and quickly create Accounting Reports for customers.  The Manager of Ryan Bookkeeping has decided to evaluate the popularity of the new software through the use of a questionnaire aimed at customers.  Outline one limitation of this method of determining the effectiveness of an information system.

______________________________________________________________________________________________________________________________________________________________________________

_______________________________________________________________________________________________________________________________________________________________________(1 Mark)

Question 3

A video library has a database of all of its videos.  This database identifies video number, its title, the main actors/actresses, its duration, and its classification (eg PG, M, etc…).  Provide one example of a way in which the personnel at the Library could bring up only those Videos starring, for example, Mel Gibson.

_______________________________________________________________________________________________________________________________________________________________________(1 Mark)

Question 4

Discuss one possible economic benefit associated with the use of robotic machinery within a motor vehicle assembly company?

______________________________________________________________________________________________________________________________________________________________________________

______________________________________________________________________________________________________________________________________________________________________________

______________________________________________________________________________________________________________________________________________________________________(2 Marks)

Question 5

Salce Personnel Services have recently installed a new computerised help desk program.  This program performs the following functions:

(i)
It helps log customer calls.

(ii)
It records the call centre personnel’s suggested action to be taken.

Describe two ways in which Salce Personnel Services could evaluate the success of their new help desk program.

Method 1

______________________________________________________________________________________________________________________________________________________________________________

______________________________________________________________________________________________________________________________________________________________________________

______________________________________________________________________________________________________________________________________________________________________________

Method 2

______________________________________________________________________________________________________________________________________________________________________________

______________________________________________________________________________________________________________________________________________________________________________

________________________________________________________________________________________________________________________________________________________________(2+2 = 4 Marks)

Question 6

The following diagram shows the management pyramid for Cleary Enterprises Pty Ltd.  
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Complete the following tasks:

(a)
The company is made up of three main levels.  

(i)
The Operational Staff

(ii)
The Committee Of Management

(iii)
Section Managers

Write the items in points (i) to (iii) above into the appropriate boxes in Section A of the above diagram.

(b)
The company produces the following reports:

(i)
A Profit & Loss Statement

(ii)
Departmental Weekly Sales Figures

(iii)
A list of daily purchase orders per department

Write the items in points (i) to (iii) above into the appropriate box in Section B of the above diagram.

(2 Marks)

Question 7

Answer all of the following questions.

Carakitsis Pty Ltd is a small dental supply company located in Abbotsford.  They specialise in the supply of dental equipment to dental surgeries. The company’s market share has recently begun to drop, and the Managing Director (Georgie Carakitsis) of the company believes this is due to the fact that the company does not have a web presence like one of its major competitors. 

Georgie has decided to seek the assistance of a web design business in her attempts to increase market share locally, nationally and internationally.  She wants to introduce an e-commerce solution that will enable dental surgeries anywhere in the world to purchase equipment online.

(a)
Discuss the suitability of Georgie’s planned solution.

____________________________________________________________________________________________________________________________________________________________________

____________________________________________________________________________________________________________________________________________________________________

____________________________________________________________________________________________________________________________________________________________________

____________________________________________________________________________________________________________________________________________________________________

____________________________________________________________________________________________________________________________________________________________________

(b)
Identify two ways in which the company’s current information system would be affected by the planned solution?

____________________________________________________________________________________________________________________________________________________________________

____________________________________________________________________________________________________________________________________________________________________

(c)
If the planned solution were introduced, a new systems development life cycle would begin. 

(i)
List each of the components of this cycle.

____________________________________________________________________________________________________________________________________________________________________

 (ii)
Explain how the planned solution would impact upon two of the stages of this cycle.

____________________________________________________________________________________________________________________________________________________________________

_________________________________________________________________________________________________________________________________________________(4+2+1+4 = 11 Marks)

Question 8

Cullinan Legal Services are about to introduce a new network. They have been told they will need:

(i)
A Server

(ii)
Two Switches

(iii)
Cat 5 Network Cabling to each work area

(iv)
A Network Card for each PC within the organization

Outline the role two of these items play in an Information System.

Item 1

______________________________________________________________________________________________________________________________________________________________________________

______________________________________________________________________________________________________________________________________________________________________________

______________________________________________________________________________________________________________________________________________________________________________

Item 2

______________________________________________________________________________________________________________________________________________________________________________

______________________________________________________________________________________________________________________________________________________________________________

________________________________________________________________________________________________________________________________________________________________(2+2 = 4 Marks)

Question 9

Look at the following cartoon, and answer the question below:
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M Stanton 2000

Pictures from Microsoft ClipArt

(a)
Briefly explain one possible limitation common to each of the computers above.

____________________________________________________________________________________________________________________________________________________________________

____________________________________________________________________________________________________________________________________________________________________

(b)
Outline one social issue associated with the upgrade of computers like those illustrated above.

____________________________________________________________________________________________________________________________________________________________________

_______________________________________________________________________________________________________________________________________________________(2+2 = 4 Marks)

Question 10

Tregonning Regional BookStore is looking at introducing a new e-commerce solution.  The solution is aimed at providing customers with the opportunity to purchase books and other materials on-line.  The proposed solution involves the introduction of a new Server and a new stock software management solution. The new software will be capable of recording all new purchases, generating delivery dockets and invoices, and will even create monthly reports to provide an indication of the performance of the company over the period.

Answer one of the following questions:

(a)
Identify and justify your preferred method of implementation of the solution.

____________________________________________________________________________________________________________________________________________________________________

____________________________________________________________________________________________________________________________________________________________________

____________________________________________________________________________________________________________________________________________________________________

____________________________________________________________________________________________________________________________________________________________________

__________________________________________________________________________(5 Marks)

OR

(b)
Identify and justify a training strategy that would be appropriate for the workers and customers of Tregonning’s Regional BookStore.

___________________________________________________________________________________________________________________________________________________________________

____________________________________________________________________________________________________________________________________________________________________

____________________________________________________________________________________________________________________________________________________________________

____________________________________________________________________________________________________________________________________________________________________

__________________________________________________________________________(5 Marks)

Question 11

The following questions relate to Tregonning Regional Book Store mentioned in Question 10 (above). Answer one of the following questions:

(a)
To answer this question, you must answer all points (i) to (iv) below:

(i)
Identify the types of documentation that would be required as part of the introduction of this new solution.

_________________________________________________________________________________________________________________________________________________________

_________________________________________________________________________________________________________________________________________________________

(ii)
Outline how you would present one of these types of documentation.

_________________________________________________________________________________________________________________________________________________________

_________________________________________________________________________________________________________________________________________________________

__________________________________________________________________________________________________________________________________________________________

(iii)
List three of the important factors associated with the design and construction of documentation for the new solution?  

__________________________________________________________________________________________________________________________________________________________

__________________________________________________________________________________________________________________________________________________________

(iv)
Which of the factors mentioned above in (iii) is the most important?  Justify your response.

__________________________________________________________________________________________________________________________________________________________

__________________________________________________________________________________________________________________________________________________________

__________________________________________________________________________________________________________________________________________________________

__________________________________________________________(3+2+3+4 = 12 Marks)

OR

(b)
To answer this question, you must answer all points (i) to (iv) below:

(i)
Outline some of the factors Tregonning’s would look for when selecting an appropriate supplier?

__________________________________________________________________________________________________________________________________________________________

_________________________________________________________________________________________________________________________________________________________

(ii)
Explain three possible economic implications for Tregonning’s associated with the introduction of the new solution.

__________________________________________________________________________________________________________________________________________________________

__________________________________________________________________________________________________________________________________________________________

__________________________________________________________________________________________________________________________________________________________

__________________________________________________________________________________________________________________________________________________________

__________________________________________________________________________________________________________________________________________________________

__________________________________________________________________________________________________________________________________________________________

(iii)
Explain and justify one strategy the company could adopt to test the new solution once it was installed.  

__________________________________________________________________________________________________________________________________________________________

__________________________________________________________________________________________________________________________________________________________

__________________________________________________________________________________________________________________________________________________________

_________________________________________________________________________________________________________________________________________(3+6+3 = 12 Marks)

Question 12

Listed below are three statements. Indicate whether they are “problems” or “solutions”.

(i)
The Library Software at a school is not available across the whole school network.

___________________________________________________________________________

(ii)
A Football Club produces an ecommerce site to allow memberships to be acquired online.

___________________________________________________________________________

(iii)
A Secretary backs up all data on the main PC to a ZIP Drive.

__________________________________________________________________(3 Marks)

Question 13

Explain and justify one strategy that could be used by an organization to protect the integrity of its data?

______________________________________________________________________________________________________________________________________________________________________________

_____________________________________________________________________________________________________________________________________________________________________________

_____________________________________________________________________________________________________________________________________________________________________(4 Marks)

Question 14

Briefly describe one information system you have studied this year.  In your response you must identify the key elements of the information system.

______________________________________________________________________________________________________________________________________________________________________________

______________________________________________________________________________________________________________________________________________________________________________

______________________________________________________________________________________________________________________________________________________________________________

____________________________________________________________________________________________________________________________________________________________________(4 Marks)

Question 15

You must answer all of the following questions:

Diconi Investigative Services (DIS) is a firm that specialises in investigating the activities of other companies for their clients. The clients of DIS then use this information.  They use it for a variety of reasons such as to formulate business plans or to create the specifications for new products.  The information databases of Diconi Services hold a great deal of information on many large, innovative and successful companies throughout the World.  Recently the Manager of Diconi Services decided to review the security measures in place within the office area at DIS’s main headquarters.  

The diagram below shows the layout of the offices of DIS. PC’s with access to the main database are marked as PCX on the diagram.  DIS are looking at the following devices:

(i)
Perimetre Fences

(ii)
Retina Scan Entry Devices

(iii)
Card Reader and entry cards

(iv)
Thumb Print activation devices for all PC’s

(v)
Rotating Video Cameras

(vi)
Security Guards
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Question 15 (Cont…)

(a)
In each of the shaded boxes on the diagram (previous page), clearly label which device (i)-(vi) would be best suited at each point.

(b)
Justify your placement of two of the above security devices.

Item 1

____________________________________________________________________________________________________________________________________________________________________

____________________________________________________________________________________________________________________________________________________________________

Item 2

____________________________________________________________________________________________________________________________________________________________________

_______________________________________________________________________________________________________________________________________________________(3+4 = 7 Marks)

Question 16

Hubert Siberas is a Project Manager.  In his discussions with you he mentions three strategies for planning and organising information systems.

(i)
Top-Down

(ii)
Bottom-Up

(iii)
Middle-Out

Answer the following questions:

(a)
Briefly explain the meaning of one of these strategies.

____________________________________________________________________________________________________________________________________________________________________

__________________________________________________________________________________

(b)
Outline one advantage of utilising the strategy chosen above.

____________________________________________________________________________________________________________________________________________________________________

____________________________________________________________________________________________________________________________________________________________________

(2+2 = 4 Marks)

Question 17

Answer Part (a), and either Part (b) OR Part (c) below:

(a)
List six of the key components of a Project that a Project Manager would need to identify when planning a Project.

____________________________________________________________________________________________________________________________________________________________________

____________________________________________________________________________________________________________________________________________________________________

___________________________________________________________________________________________________________________________________________________________(3 Marks)

AND

(b)
Below is a Gantt Chart depicting the major steps required to complete a Project. Please note that work will be carried out during the weekends. Look at the Gantt Chart, then answer the questions on the following page:

#
Description
Duration
11/09/2000
18/09/2000




S
M
T
W
T
F
S
S
M
T
W
T
F
S

1
Task A
2
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2
Task B
1















3
Task C
2















4
Task D
2















5
Task E
1















6
Task F
1















7
Task G
1















8
Task H
3















9
Task I
3















10
Task J
2















11
Task K
1















Question 17 (Cont…)

(b)
(Cont…)

(i)
What would happen to the Project if Task E was delayed by a certain period of time?

__________________________________________________________________________________________________________________________________________________________

(ii)
List the tasks that would be deemed to be on the “critical path” for this project.

_________________________________________________________________________________________________________________________________________________________

_________________________________________________________________________________________________________________________________________________________

______________________________________________________________________________________________________________________________________________

(iii)
According to the Gantt Chart, what’s the estimated duration of this Project?

_______________________________________________________________________

(2+4+1 = 7 Marks)

OR

 (c)
The following table indicates the key milestones for a particular project.


Milestone 1
Milestone 2
Milestone 3
Milestone 4



Task 1
Task 2
Task 3
Task 4

(i)
What does the term “Milestones” mean in Project Management Theory?

_________________________________________________________________________________________________________________________________________________________

(ii)
Describe the sorts of tasks a Project Manager would undertake at each Milestone.

__________________________________________________________________________________________________________________________________________________________

__________________________________________________________________________________________________________________________________________________________

_____________________________________________________________________________

(iii)
Outline a strategy that could be used to monitor the progress of a Project.

__________________________________________________________________________________________________________________________________________________________

__________________________________________________________________________________________________________________________________________________________

(1+3+3 = 7 Marks)
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